HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A1H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.0 0.0 HitE 78 Fokx 83 1005.6
2 288 0.0 = 6.3 o 84 1005.0
3 289 0.0 = 76 o 80 1004.7
4 285 05 = 6.2 o 84 1004.4
5 289 0.0 77 o 81 1004.5
6 29.0 0.0 it 8.9 sokk 76 1004.8
7 29.2 0.0 it 9.0 o 75 1005.6
8 29.2 0.0 =it 10.3 ook 76 1006.2
9 29.2 0.0 it 10.7 o 78 1005.9
10 29.2 0.0 it 105 o 77 1005.4
11 293 0.0 it 99 o 76 1004.7
12 293 0.0 it 1.4 o 77 1004.1
13 293 0.0 b= 12.2 o 76 1003.0
14 29.4 0.0 Jtit 12.3 o 76 1002.6
15 293 0.0 Jtit 1.7 o 77 1002.1
16 29.4 0.0 Jtt 12.1 o 78 1002.3
17 293 0.0 Jtit 13.3 ook 76 1002.3
18 29.2 0.0 Jtt 13.4 o 78 1002.3
19 29.2 0.0 Jtit 14.0 o 79 1002.6
20 293 0.0 Jtt 15.1 o 78 1002.7
21 29.2 0.0 Jtt 15.0 o 79 1002.9
22 293 0.0 Jtt 14.8 ook 80 1002.3
23 29.4 0.0 Jtt 14.4 ook 79 1001.5
24 28.6 0.0 Jtt 14.4 ook 81 1000.8
H&x A 29.4 05 15.1 84 1006.2
B/ 285 0.0 6.2 75 1000.8
EEZD] 29.1 1.2 79 1003.7
&3t 05 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A2H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.2 0.0 it 15.3 Fokx 81 999.5
2 29.2 0.0 I3t 15.7 sokk 80 998.9
3 28.9 0.0 Jedt 16.5 *kkok 82 998.2
4 29.1 0.0 it 15.9 sokk 81 997.4
5 288 0.0 it 15.3 sokk 81 997.1
6 288 05 it 171 sokk 80 997.0
7 28.2 0.0 Jtit= 178 sokk 81 996.8
8 28.6 0.0 dt 16.7 *kkok 85 9959
9 29.2 0.0 it 17.3 o 80 995.5
10 29.0 0.0 it 17.6 o 83 994.7
11 29.2 05 it 18.9 o 80 993.2
12 28.8 0.0 it 18.8 o 82 991.4
13 25.7 05 it 202 sokk 96 990.2
14 26.1 15 | :E 20.5 *okok 95 988.6
15 28.2 45 Jedt#s 19.0 *kkok 88 987.2
16 25.9 2.0 it 231 o 97 985.9
17 274 1.0 | :E 21.7 *okok 90 984.1
18 26.1 35 it 234 o 97 983.3
19 27.3 1.0 dedt 211 *okok 95 9824
20 26.6 15 I3t 222 o 97 981.2
21 26.9 05 I3t 226 o 94 979.1
22 265 20 it 236 sokk 97 976.9
23 26.4 15 BN 26.1 okok 98 974.2
24 26.7 10 LT 26.1 okok 95 9725
H&x A 29.2 45 26.1 98 9995
B/ 25.7 0.0 15.3 80 9725
EESS] 2738 19.7 88 989.2
&3t 215 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A3H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 1 61?11'[ m./'s h % hPa
1 28.0 0.0 i 239 sokk 94 972.1
2 285 0.0 75 242 ook 87 972.4
3 28.0 0.0 TR 7 211 sokk 90 973.0
4 26.9 0.0 FERI 7 234 o 95 974.2
5 265 25 FERI 7 247 sokk 98 976.0
6 26.1 30 PRI 7 275 sokk 99 978.2
7 26.9 10 i 25.0 sokk 94 982.0
8 26.9 05 TEEI 7 219 o 93 9845
9 285 0.0 PRI 7 214 o 85 985.1
10 28.0 0.0 ol 21.9 sokk 81 9865
11 29.0 0.0 ol 20.4 sokk 82 987.8
12 276 0.0 ol 185 sokk 90 988.7
13 28.0 10 ol 16.3 o 88 988.9
14 29.2 0.0 ol 192 sokk 82 989.3
15 296 0.0 ol 199 sokk 81 990.5
16 293 0.0 ol 171 sokk 84 9916
17 293 0.0 ol 18.2 o 83 992.3
18 29.2 0.0 ol 17.0 sokk 82 9937
19 29.2 0.0 Gl 16.9 o 85 995.3
20 29.0 0.0 sl 15.5 ook 86 995.6
21 29.0 0.0 Gl 16.1 sokk 84 9965
22 288 0.0 sl 15.0 sokk 86 996.8
23 28.7 0.0 Gl 137 sokk 86 996.8
24 28.6 0.0 S 13.6 sokk 87 997.1
Hmx KX 29.6 30 275 99 997.1
Hex/ 26.1 0.0 13.6 81 972.1
HEH 283 19.7 88 986.9
a5t 8.0 kK
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A4H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 1 673’_{1'[ m./'s h % hPa
1 289 0.0 Gl 11.8 sokk 86 997.6
2 29.1 0.0 ol 138 o 83 997.7
3 29.1 0.0 Gl 131 o 83 998.2
4 29.0 0.0 S 12.9 o 83 998.0
5 27.0 0.0 FaR 7 8.1 o 93 999.2
6 29.0 0.0 ol 12 ook 84 999.7
7 289 0.0 ol 103 o 85 999.8
8 29.0 0.0 ol 101 o 84 1001.1
9 28.7 0.0 ol 8.8 o 85 1001.7
10 29.4 0.0 ol 93 o 81 1001.7
11 295 0.0 ol 96 o 80 1001.5
12 29.7 0.0 ol 8.9 o 79 1001.2
13 29.9 0.0 ol 8.6 o 78 1001.1
14 296 0.0 ol 71 o 81 1000.8
15 296 0.0 ol 53 o 80 1001.5
16 295 0.0 ol 48 o 78 1002.0
17 293 0.0 ol 41 o 82 1002.3
18 29.2 0.0 S 42 o 80 1003.2
19 28.6 0.0 GBS 46 o 85 1003.9
20 28.2 0.0 B 5.4 o 87 1004.5
21 283 0.0 B R 4.7 o 87 1005.0
22 285 0.0 B R 36 o 88 1005.1
23 28.2 0.0 B 8.2 o 83 1005.0
24 28.6 0.0 B 72 o 86 1005.1
H&x A 29.9 0.0 13.8 93 1005.1
B/ 27.0 0.0 36 78 997.6
H¥EH 29.0 8.2 83 1001.5
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A5H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 286 0.0 B 71 Fokx 86 1005.1
2 28.7 0.0 B 8.2 o 85 1005.0
3 28.4 0.0 B R 6.9 o 88 1005.0
4 28.7 0.0 B 76 o 85 1005.1
5 285 0.0 B 6.8 o 84 1005.3
6 277 15 B R 57 o 89 1005.7
7 28.7 0.0 BER 6.5 sokk 86 1006.5
8 29.2 0.0 EE 6.1 sokk 83 1006.9
9 29.1 0.0 B 55 o 83 1007.4
10 303 0.0 B R 6.5 o 77 1007.2
11 29.9 0.0 BER 51 sokk 79 1006.6
12 29.7 0.0 EE 47 sokk 82 1006.0
13 296 0.0 HER 54 o 81 1005.6
14 293 0.0 EE 41 sokk 79 1005.3
15 303 0.0 HER 48 sokk 76 1005.3
16 29.2 0.0 EE 53 o 82 1005.6
17 29.1 0.0 HER 41 sokk 82 1006.3
18 28.7 0.0 = 43 sokk 86 1006.5
19 28.6 0.0 = 44 o 86 1007.2
20 28.1 0.0 = 45 o 86 1007.8
21 285 0.0 = 45 sokk 89 1008.3
22 285 0.0 R R 56 sokk 88 1008.0
23 285 0.0 B R 6.4 o 87 1007.7
24 283 0.0 B R 56 o 88 1007.4
H&x A 303 15 8.2 89 1008.3
Hex/ 27.7 0.0 4.1 76 1005.0
EERS] 28.9 5.7 84 1006.4
&3t 15 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A6H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 283 0.0 RE R 6.0 Fokx 88 1007.1
2 28.2 0.0 E 49 sokk 87 1006.6
3 28.2 0.0 = 57 sokk 89 1006.5
4 28.0 0.0 = 51 sokk 87 1006.6
5 28.1 0.0 = 59 sokk 86 1006.8
6 26.9 0.0 = 6.9 o 88 1007.2
7 271 05 E 5.4 o 90 1007.4
8 28.6 0.0 = 58 o 84 1007.7
9 28.8 0.0 = 6.7 o 80 1007.7
10 29.1 0.0 = 55 ook 79 1007.5
11 296 0.0 = 6.0 o 78 1007.1
12 29.8 0.0 = 6.4 sokk 76 1006.3
13 30.2 0.0 = 6.0 o 74 1005.7
14 30.1 0.0 58 o 75 1005.3
15 29.7 0.0 it 73 o 77 1005.0
16 28.8 0.0 it 71 o 81 1005.1
17 28.1 0.0 it 8.4 o 86 1005.0
18 28.0 0.0 L= 8.9 sokk 86 1005.3
19 277 0.0 it 9.7 ook 88 1005.3
20 27.7 0.0 JtE® 10.6 kK 87 1005.6
21 2738 0.0 HitE 15 sokk 86 1006.2
22 27.9 0.0 it 1.4 sokk 87 1005.9
23 277 0.0 it 11.9 o 86 1005.1
24 2738 0.0 it 13.1 sokk 87 1004.5
H&x A 30.2 05 13.1 90 1007.7
B/ 26.9 0.0 4.9 74 1004.5
HEH 28.4 76 84 1006.2
&3t 05 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A7H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 277 0.0 it 13.4 Fokx 87 1004.2
2 277 0.0 it 135 o 88 1003.2
3 275 0.0 b= 14.0 o 89 1002.4
4 2738 0.0 it 15.2 ook 89 1002.3
5 27.9 0.0 it 15.0 ook 87 1001.8
6 27.9 0.0 it 16.0 ook 86 1002.3
7 28.0 0.0 it 145 ook 86 1002.9
8 28.0 0.0 b= 15.2 o 87 1002.4
9 28.4 0.0 it 14.4 o 87 1002.6
10 28.1 0.0 it 15.1 ook 88 1002.3
11 28.2 0.0 it 135 o 86 1002.0
12 27.9 0.0 it 14.8 o 88 1000.6
13 283 0.0 it 14.4 o 86 999.7
14 273 10 = 13.1 o 93 9995
15 28.6 10 = 15.7 ook 81 999.2
16 28.1 0.0 = 135 ook 86 999.2
17 28.4 0.0 = 14.9 ook 81 999.2
18 28.4 0.0 = 136 o 82 1000.2
19 2738 0.0 = 136 o 84 1000.3
20 28.1 0.0 = 142 o 84 1000.5
21 28.0 0.0 = 142 o 84 1000.8
22 283 0.0 = 142 o 83 1000.9
23 273 0.0 = 151 o 87 1000.6
24 275 0.0 = 13.1 o 89 1000.5
H&x A 28.6 10 16.0 93 1004.2
B/ 273 0.0 13.1 81 999.2
HEH 28.0 14.3 86 1001.2
&3t 2.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A8H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 278 0.0 = 13.9 Fokx 88 999.8
2 28.1 0.0 = 13.6 o 83 9995
3 27.9 0.0 R R 135 ook 82 998.9
4 27.9 0.0 E 14.9 ook 81 999.1
5 283 0.0 RS 138 sokk 79 998.9
6 28.2 0.0 RS 126 ook 82 999.2
7 28.4 0.0 BER 140 ook 80 999.8
8 283 0.0 R E 140 o 83 1000.2
9 289 0.0 RS 147 o 78 1000.5
10 288 0.0 EE 14.9 ook 77 1000.8
11 28.7 0.0 BER 140 ook 79 1000.3
12 28.4 0.0 EE 13.9 ook 79 999.8
13 27.9 05 HER 171 o 83 999.7
14 2738 05 EE 13.3 ook 86 999.2
15 283 0.0 HER 125 o 85 998.9
16 27.9 0.0 EE 12.8 ook 86 998.9
17 2738 0.0 HER 123 ook 87 998.9
18 27.9 0.0 B R 12 o 88 999.4
19 25.2 25.0 I 1.0 o 98 1000.8
20 276 05 EE 15.1 o 85 1001.2
21 276 0.0 B R 11.9 o 86 1001.4
22 28.0 0.0 B R 134 o 86 1001.7
23 28.2 0.0 B 145 o 85 1001.5
24 28.1 0.0 B 13.6 o 86 1001.2
H&x A 28.9 25.0 171 98 1001.7
B/ 25.2 0.0 11.0 77 998.9
HEH 28.0 13.6 84 1000.0
&3t 26.5 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E10A9H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 283 0.0 B 140 Fokx 85 1000.8
2 283 0.0 B 14.8 o 84 1000.2
3 28.1 0.0 B 135 o 86 1000.2
4 28.2 0.0 B R 12.4 o 85 999.7
5 283 0.0 BER 12.9 o 85 1000.2
6 283 0.0 E 13.9 o 86 1000.8
7 28.4 0.0 BER 123 o 85 1000.9
8 289 10 EE 141 o 81 1001.5
9 29.1 0.0 BER 13.4 o 81 1002.0
10 296 0.0 EE 14.4 sokk 79 1002.3
11 29.4 0.0 B 123 o 81 1001.7
12 29.2 0.0 B 132 o 83 1000.8
13 29.7 0.0 B 143 sokk 76 1000.3
14 293 0.0 B 140 o 82 1000.0
15 271 0.0 B 140 o 89 1000.0
16 28.4 0.0 B 13.9 o 84 1000.0
17 28.7 0.0 Ik 11.6 sokk 84 999.8
18 283 0.0 B 1.7 o 86 1000.2
19 28.6 0.0 Ik 10.7 o 84 1000.6
20 28.7 0.0 Tk 114 o 85 1001.1
21 288 0.0 Tk 11.6 o 82 1001.1
22 288 0.0 Tk 11.6 o 82 1000.8
23 28.7 0.0 Tk 12.0 o 83 1000.6
24 283 0.0 Tk 1.7 o 85 1000.2
H&x A 29.7 10 14.8 89 1002.3
Hex/ 27.1 0.0 10.7 76 999.7
EERS] 28.6 12.9 83 1000.7
&3t 10 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A 108
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.7 0.0 EEEd 123 Fokx 82 1000.2
2 28.7 0.0 ] 98 o 85 1000.2
3 288 0.0 & 12 ook 82 999.8
4 28.7 0.0 ] 13 o 85 999.8
5 289 0.0 & 119 o 76 1000.2
6 285 0.0 B R 114 o 85 1000.8
7 288 0.0 ] 103 o 84 1000.9
8 29.0 0.0 & 10.7 o 83 1002.0
9 293 0.0 & 131 o 78 1002.4
10 293 0.0 ] 1.7 o 80 1002.7
11 295 0.0 ] 10.8 o 81 1002.3
12 293 0.0 ] 12.9 o 80 1001.1
13 293 0.0 & 118 o 82 1001.4
14 293 0.0 ] 10.9 ook 79 1000.8
15 289 0.0 5 119 o 83 1000.3
16 29.1 0.0 7 125 o 83 1000.8
17 289 0.0 ] 13.0 o 83 1001.2
18 29.0 0.0 B 12.7 o 82 1001.4
19 29.0 0.0 izl 12.4 o 81 1002.3
20 29.0 0.0 ol 123 o 83 1003.2
21 288 0.0 S 114 o 84 1003.8
22 288 0.0 ] 12 o 85 1003.5
23 28.7 0.0 & 116 o 85 1003.0
24 288 0.0 ] 123 o 84 1003.5
H&x A 295 0.0 13.1 85 1003.8
B/ 285 0.0 98 76 999.8
HEH 29.0 1.7 82 1001.6
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 118
Bl Kim R= JEL[F] JERE H BE B R BE KT
i3 °C mm 1 673'£'L m.”'s h % hPa
1 283 0.0 ol 13.8 Fokx 85 1003.5
2 286 0.0 ol 132 o 83 1003.0
3 27.9 0.0 ol 131 o 81 1002.7
4 285 0.0 ol 132 o 84 1002.3
5 28.6 0.0 ol 14.4 o 83 1002.7
6 286 0.0 ol 131 o 82 1003.0
7 28.6 0.0 ol 12.9 o 82 1003.8
8 29.0 0.0 ol 137 o 78 1004.7
9 28.7 0.0 ol 135 o 82 1005.0
10 288 0.0 ol 13.3 o 82 1005.3
11 29.0 0.0 ol 12.0 o 82 1005.3
12 28.6 0.0 ol 121 o 83 1005.0
13 289 0.0 ol 10.2 o 85 1005.0
14 25.0 45 S 13.0 o 93 1004.8
15 271 0.0 i 91 o 92 1005.7
16 285 0.0 ol 123 o 84 1005.3
17 28.1 0.0 ol 93 o 88 1005.4
18 29.0 0.0 ol 1.7 sokk 82 1006.0
19 28.7 0.0 ol 103 sokk 86 1006.8
20 288 0.0 ol 8.7 sokk 84 1008.3
21 28.6 0.0 ol 8.2 sokk 82 1008.6
22 28.6 0.0 ol 93 sokk 81 1008.9
23 285 0.0 ol 10.2 sokk 81 1008.6
24 28.4 0.0 [EalEaki] 96 sokk 82 1008.6
H&x A 29.0 45 14.4 93 1008.9
B/ 25.0 0.0 8.2 78 1002.3
H¥EH 28.4 11.7 84 1005.3
&3t 45 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 128
Bl Kim R= JEL[F] JERE H BE B R BE KT
i3 °C mm 1 673'£'L m.”'s h % hPa
1 28.4 0.0 ol 96 sokk 82 1008.3
2 28.4 0.0 ol 85 sokk 82 1008.3
3 285 0.0 ol 8.9 sokk 85 1008.3
4 285 0.0 ol 98 sokk 85 1008.3
5 285 0.0 ol 96 sokk 84 1008.6
6 286 0.0 ol 8.0 sokk 84 1009.5
7 28.7 0.0 ol 8.6 o 84 1010.1
8 28.8 0.0 [Eale 2] 8.3 Hokok 83 1010.7
9 29.0 0.0 il 8.0 o 84 1011.3
10 277 0.0 ol 8.0 o 84 1011.3
11 29.1 0.0 ol 72 o 80 1010.8
12 29.2 0.0 [EalEaki] 6.4 o 81 1010.4
13 295 0.0 ] 6.4 sokk 83 1009.8
14 295 0.0 ] 58 sokk 83 1009.6
15 296 0.0 ] 47 sokk 80 1009.5
16 29.1 0.0 ] 59 sokk 83 1009.6
17 288 0.0 5 6.2 o 83 1010.1
18 28.6 0.0 ol 56 o 86 1010.7
19 28.6 0.0 [EalEaki] 54 o 84 1011.3
20 285 0.0 ] 50 o 84 1011.7
21 28.4 0.0 5 50 o 86 1011.9
22 283 0.0 [EalEaki] 56 o 88 1011.6
23 283 0.0 ] 54 o 87 1011.6
24 28.2 0.0 ] 5.7 o 87 1011.3
H&x A 296 0.0 98 88 1011.9
B/ 27.7 0.0 4.7 80 1008.3
HEH 28.7 7.0 84 1010.2
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A13H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i3 °C mm 1 673'£'L m.”'s h % hPa
1 28.2 0.0 el 4.7 Fokx 87 1011.0
2 28.1 0.0 ol 48 o 87 1010.7
3 28.0 0.0 ol 47 o 87 1010.4
4 27.9 0.0 Bk 39 o 86 1010.4
5 27.9 0.0 TEEI 7 26 o 87 1010.8
6 27.9 0.0 PRI 7 2.9 o 86 1011.0
7 28.6 0.0 Gl 2.8 o 83 1011.6
8 289 0.0 S 2.8 o 79 1011.9
9 30.4 0.0 FERI 7 18 o 73 1011.7
10 315 0.0 FERI 7 19 o 70 1011.4
11 314 0.0 FERI 7 17 o 73 1011.0
12 31.0 0.0 FERI 7 19 o 73 1010.4
13 324 0.0 TERI 7 18 o 70 1010.1
14 327 0.0 FERI 7 22 sokk 69 1009.5
15 324 0.0 TERI 7 18 sokk 71 1009.5
16 30.9 0.0 FERI 7 16 sokk 74 1009.6
17 30.1 0.0 TERI 7 21 sokk 77 1009.9
18 289 0.0 FERI 7 20 o 80 1010.2
19 28.7 0.0 TERI 7 20 o 83 1011.0
20 28.6 0.0 TR 7 19 o 82 1011.6
21 27.8 0.0 B[] 3.7 *kkok 84 1011.7
22 27.6 0.0 Jedt 44 *kkok 89 1011.7
23 275 0.0 Jtt 30 o 86 1011.4
24 274 0.0 Jtt 25 o 87 1011.0
H&x A 32.7 0.0 4.8 89 1011.9
B/ 274 0.0 16 69 1009.5
EEZD] 29.4 2.7 80 1010.8
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = e S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
F 265108 145 .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 1 673'_1;'[ m./'s h % hPa
1 274 0.0 B[ 26 ook 87 1010.5
2 274 0.0 Pl 31 o 85 1010.1
3 273 0.0 I3t 38 ook 85 1009.8
4 272 0.0 Jtt 41 o 85 1009.5
5 272 0.0 Jtt 43 ook 84 1009.5
6 273 0.0 Jtt 42 ook 81 1009.8
7 27.9 0.0 I3t 51 o 78 1010.4
8 283 0.0 I3t 55 o 75 1011.0
9 28.6 0.0 I3t 59 ook 71 1011.3
10 28.8 0.0 I3t 6.0 o 73 1010.8
11 29.9 0.0 I3t 59 o 64 1010.2
12 30.8 0.0 I3t 58 ook 64 1009.6
13 30.1 0.0 Jtit 5.7 ook 66 1009.3
14 296 0.0 it 55 ook 67 1009.2
15 293 0.0 it 4.9 ook 69 1009.2
16 293 0.0 it 59 ook 70 1009.3
17 28.6 0.0 it 5.7 ook 70 1009.6
18 277 0.0 I3t 6.3 o 77 1010.2
19 277 0.0 I3t 6.2 o 73 1010.8
20 276 0.0 I3t 6.2 ook 74 1011.3
21 272 0.0 Jtt 72 o 78 1011.9
22 273 0.0 I3t 6.0 ook 77 1011.9
23 272 0.0 I3t 6.3 ook 77 1011.9
24 27.0 0.0 I3t 6.6 o 77 1011.4
H&x A 30.8 0.0 72 87 1011.9
B/ 27.0 0.0 26 64 1009.2
H¥EH 28.2 54 75 1010.4
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 158
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.9 0.0 Jedt 7.0 *kkok 76 1010.7
2 26.8 0.0 I3t 6.5 o 75 1010.2
3 26.7 0.0 I3t 6.4 o 75 1010.1
4 26.7 0.0 I3t 6.1 o 76 1010.2
5 26.7 0.0 I3t 6.7 o 75 1010.4
6 26.8 0.0 b= 73 o 74 1011.0
7 26.8 0.0 b= 7.0 o 74 1011.7
8 26.9 0.0 =it 72 sokk 74 1012.3
9 271 0.0 =it 76 o 78 1012.5
10 271 0.0 =it 71 sokk 74 1012.5
11 271 0.0 it 74 sokk 76 1011.3
12 271 0.0 it 71 o 70 1010.7
13 274 0.0 Jbib = 74 o 72 1010.1
14 273 0.0 it 71 ook 74 1009.8
15 271 0.0 it 8.3 o 78 1010.1
16 271 0.0 it 8.2 o 74 1010.4
17 272 0.0 it 8.4 o 75 1010.7
18 272 0.0 Jbib = 8.4 o 75 1011.3
19 27.0 0.0 it 9.2 o 75 1011.9
20 271 0.0 it 9.7 o 74 1012.2
21 271 0.0 it 8.9 o 73 1012.5
22 27.0 0.0 it 9.0 o 74 1012.2
23 26.9 0.0 it 9.4 o 77 1012.2
24 26.9 0.0 it 8.8 o 77 1011.7
H&x A 274 0.0 9.7 78 1012.5
B/ 26.7 0.0 6.1 70 1009.8
H¥EH 27.0 7.8 75 1011.2
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 168
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.8 0.0 it 8.2 Fokx 77 1011.0
2 26.7 0.0 it 73 o 79 1010.7
3 26.7 0.0 it 78 o 80 1010.2
4 26.8 0.0 it 78 o 80 1010.4
5 27.0 0.0 b= 79 o 81 1010.8
6 271 0.0 HitE 9.0 o 80 1011.3
7 271 0.0 it 96 sokk 80 1011.9
8 272 0.0 it 9.4 sokk 79 1012.5
9 276 0.0 it 8.0 sokk 79 1012.8
10 277 0.0 it 78 o 78 1012.8
11 271 0.0 it 93 o 83 1012.3
12 272 0.0 it 81 o 79 1011.6
13 276 0.0 b 9.1 oo 82 1010.8
14 277 0.0 it 93 o 81 1010.4
15 275 0.0 it 8.8 ook 83 1009.9
16 276 0.0 it 9.9 sokk 79 1009.9
17 275 0.0 it 10.2 o 80 1010.4
18 274 0.0 it 10.2 o 81 1010.7
19 274 0.0 b= 10.2 sokk 79 1011.3
20 274 0.0 =it 10.3 o 81 1011.9
21 273 0.0 =it 10.8 o 80 1011.7
22 273 0.0 it 105 sokk 82 1011.9
23 271 0.0 it 10.7 sokk 80 1011.3
24 271 0.0 it 1.2 o 79 1011.0
H&x A 27.7 0.0 1.2 83 1012.8
Hex/ 26.7 0.0 7.3 77 1009.9
HEH 272 9.2 80 1011.2
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A178
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 272 0.0 it 10.4 Fokx 80 1010.7
2 27.0 0.0 it 10.7 sokk 78 1009.9
3 27.0 0.0 it 11.0 sokk 78 1009.3
4 271 0.0 it 12.1 sokk 76 1009.6
5 272 0.0 b= 12.4 sokk 78 1009.8
6 271 0.0 dedt 11.9 *kkk 78 1009.9
7 273 0.0 Jtt 12.1 sokk 79 1010.8
8 271 0.0 Jtt 11.8 o 79 1011.1
9 274 0.0 Jtit 1.2 sokk 81 1011.9
10 25.8 0.0 it 115 o 89 1011.7
11 26.6 0.0 it 8.6 o 85 1011.0
12 271 0.0 it 9.0 o 83 1010.4
13 271 0.0 it 8.9 sokk 86 1009.9
14 274 0.0 it 8.9 ook 85 1009.2
15 274 0.0 = 8.0 sokk 87 1008.7
16 274 0.0 it 9.0 sokk 86 1009.0
17 277 0.0 =it 8.7 sokk 86 1009.5
18 274 0.0 it 76 sokk 86 1009.8
19 274 0.0 it 8.1 o 87 1010.2
20 273 0.0 it 8.8 o 89 1011.0
21 274 0.0 it 9.0 o 89 1011.1
22 275 0.0 = 8.3 o 89 1011.0
23 274 0.0 = 76 o 89 1010.7
24 273 0.0 = 75 o 88 1010.8
H&x A 27.7 0.0 12.4 89 1011.9
Hex/ 25.8 0.0 75 76 1008.7
HEH 272 9.7 84 1010.3
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A18H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 273 0.0 71 Fokx 88 1010.2
2 271 0.0 it 72 sokk 90 1009.8
3 27.0 0.0 it 78 sokk 90 1009.5
4 273 0.0 = 7.9 sokk 86 1009.5
5 272 0.0 = 76 sokk 87 1009.6
6 273 0.0 = 72 o 87 1010.2
7 277 0.0 = 6.9 o 84 1010.8
8 28.2 0.0 = 75 o 81 1011.6
9 283 0.0 = 78 o 78 1011.6
10 28.7 0.0 = 76 o 78 1011.7
11 29.0 0.0 = 76 o 77 1011.0
12 29.2 0.0 = 6.2 sokk 77 1010.5
13 295 0.0 = 5.7 o 76 1010.1
14 293 0.0 = 6.5 sokk 78 1009.5
15 288 0.0 = 6.6 sokk 78 1009.8
16 273 0.0 It= 8.2 sokk 86 1009.8
17 272 0.0 b= 73 o 90 1010.2
18 275 0.0 it= 8.1 o 87 1011.0
19 27.2 0.0 it 6.7 *okok 88 1011.4
20 274 0.0 it 6.8 o 86 1012.2
21 273 0.0 L= 8.2 sokk 89 1012.3
22 273 0.0 77 o 87 1012.2
23 271 0.0 it 7.9 sokk 89 1011.9
24 271 0.0 it 8.9 o 89 1012.0
H&x A 295 0.0 8.9 90 1012.3
Hex/ 27.0 0.0 5.7 76 1009.5
EERS] 2738 74 84 1010.8
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A 198
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.7 0.0 it 9.2 Fokx 87 1011.4
2 26.9 0.0 it 8.0 o 90 1011.0
3 26.7 0.0 it 10.0 o 90 1011.0
4 26.6 0.0 = 6.9 o 88 1010.4
5 26.6 0.0 72 o 84 1011.1
6 26.8 0.0 it 8.2 o 88 1011.6
7 274 0.0 it 10.1 ook 84 1012.5
8 26.9 0.0 it 95 ook 84 1012.8
9 27.0 0.0 it 10.9 o 87 1013.1
10 26.6 0.0 it 13.0 ook 80 1012.8
11 27.9 0.0 it 10.2 o 81 1012.6
12 274 0.0 it 105 o 83 1012.0
13 285 0.0 it 9.2 o 80 1011.4
14 28.6 0.0 it 7.9 ook 80 1010.8
15 28.4 0.0 it 8.0 o 80 1010.7
16 26.6 0.0 it 1.3 o 89 1011.0
17 26.8 0.0 = 95 o 86 1011.3
18 26.9 0.0 85 o 85 1011.9
19 271 0.0 it 91 ook 88 1012.3
20 271 0.0 it 96 o 86 1012.9
21 26.2 35 it 10.6 o 92 1013.4
22 26.7 15 it 8.0 o 92 1013.1
23 26.6 0.0 = 76 o 91 1012.8
24 274 0.0 HitE 13 o 82 1012.8
H&x A 28.6 35 13.0 92 1013.4
B/ 26.2 0.0 6.9 80 1010.4
HEH 271 93 86 1011.9
a5t 50 kK
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 208
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 273 0.0 it 10.7 ook 81 1012.5
2 273 0.0 =it 10.3 o 81 1012.0
3 272 0.0 it 1.1 o 80 1011.6
4 272 0.0 it 99 o 82 1011.6
5 271 0.0 it 8.9 o 82 1011.7
6 272 0.0 it 93 o 80 1012.2
7 272 0.0 it 91 sokk 81 1012.8
8 273 0.0 it 8.7 o 80 1013.2
9 274 0.0 dt 8.5 *kkok 79 10134
10 275 0.0 HitE 8.9 o 80 1013.2
11 276 0.0 it 77 ook 82 1012.9
12 276 0.0 it 72 o 81 1012.2
13 277 0.0 it 75 o 81 1011.6
14 276 0.0 it 75 ook 82 1010.8
15 276 0.0 it 77 o 83 1010.5
16 276 0.0 it 75 o 83 1010.7
17 274 0.0 it 76 ook 85 1010.8
18 275 0.0 b= 78 o 85 1011.1
19 275 0.0 it 8.7 ook 83 1011.9
20 275 0.0 =it 8.8 o 84 1012.5
21 274 0.0 it 8.1 sokk 86 1012.5
22 273 0.0 it 76 o 86 1012.2
23 273 0.0 = 6.8 o 87 1012.2
24 273 0.0 HitE 70 o 87 1011.9
H&x A 27.7 0.0 1.1 87 1013.4
B/ 271 0.0 6.8 79 1010.5
EERS] 274 85 83 1012.0
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A218
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.8 0.5 = 77 Fokx 90 1011.6
2 272 0.0 HitE 5.4 o 88 1011.3
3 273 0.0 = 72 o 85 1011.3
4 273 0.0 = 6.6 o 85 1011.0
5 26.6 0.0 RilE 8.3 o 87 1011.4
6 26.8 0.0 = 6.8 o 87 1012.2
7 26.9 0.0 HitE 77 o 83 1012.8
8 274 0.0 72 o 77 1013.2
9 277 0.0 it 75 o 72 1013.4
10 274 0.0 it 6.3 o 76 1013.4
11 274 0.0 b= 6.7 o 76 1012.6
12 28.6 0.0 it 55 o 75 1011.9
13 274 0.0 =it 59 ook 79 1011.3
14 274 0.0 it 5.4 ook 81 1010.8
15 274 0.0 it 59 o 84 1010.7
16 275 0.0 it 53 o 82 1010.7
17 276 0.0 HitE 51 o 81 1010.8
18 274 0.0 it 55 o 82 1011.1
19 274 0.0 b= 5.4 o 82 1011.6
20 273 0.0 it 4.9 o 83 1012.2
21 272 0.0 it 5.4 o 84 1012.2
22 271 0.0 it 45 o 85 1011.9
23 27.0 0.0 = 43 o 87 1011.7
24 27.0 0.0 = 47 o 86 1011.3
H&x A 28.6 05 8.3 90 1013.4
B/ 26.6 0.0 43 72 1010.7
HEH 273 6.1 82 1011.8
&3t 05 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A22H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.7 0.0 = 31 Fokx 89 1010.7
2 25.9 0.0 = 6.6 o 88 1010.2
3 265 0.0 = 39 sokk 87 1009.8
4 265 0.0 R R 53 sokk 84 1009.8
5 255 0.0 RS 58 o 84 1010.1
6 26.0 05 RS 58 o 88 1010.4
7 27.0 0.0 = 4.8 o 81 1011.1
8 275 0.0 = 43 o 80 1011.6
9 27.9 0.0 = 49 o 78 1011.7
10 25.7 0.0 E 6.0 o 86 1011.6
11 26.7 0.0 = 2.7 o 82 1011.1
12 25.7 45 dedeEE 20 Hokok 92 1010.4
13 28.4 0.0 = 33 sokk 82 1009.5
14 288 0.0 = 44 ook 76 1009.2
15 29.0 0.0 = 59 ook 73 1009.0
16 289 0.0 = 6.0 ook 73 1009.2
17 2738 0.0 = 56 ook 78 1009.8
18 276 0.0 = 52 o 80 1010.1
19 275 0.0 = 55 o 79 1010.7
20 275 0.0 = 5.7 o 78 1011.3
21 274 0.0 = 6.1 o 78 1011.6
22 273 0.0 = 6.2 o 80 1011.6
23 271 0.0 = 55 o 82 1011.4
24 271 0.0 HitE 58 o 82 1011.0
H&x A 29.0 45 6.6 92 1011.7
B/ 255 0.0 20 73 1009.0
HEH 272 50 82 1010.5
a5t 50 kK
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A23H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 271 0.0 = 58 Fokx 83 1010.1
2 26.4 0.0 = 75 sokk 81 1009.5
3 26.8 0.0 = 6.4 sokk 85 1009.2
4 26.8 0.0 54 sokk 84 1009.3
5 26.8 0.0 it 6.4 o 83 1009.6
6 26.8 0.0 it 73 o 81 1010.1
7 27.0 0.0 it 74 o 79 1010.7
8 273 0.0 it 74 ook 77 1011.3
9 277 0.0 = 6.7 o 78 1011.6
10 27.9 0.0 = 4.9 o 78 1011.4
11 28.4 0.0 42 o 75 1010.8
12 28.8 0.0 it 6.7 o 70 1010.1
13 28.7 0.0 it 6.4 ook 69 1009.5
14 277 0.0 it 76 o 68 1009.2
15 28.4 0.0 it 6.9 sokk 62 1009.5
16 274 0.0 it 77 ook 67 1009.9
17 272 0.0 it 6.7 o 69 1010.4
18 26.9 0.0 1t 6.9 o 73 1010.7
19 26.8 0.0 b= 6.6 o 71 1011.6
20 26.8 0.0 it 6.4 sokk 72 1012.3
21 26.7 0.0 it 6.8 o 73 1012.6
22 26.7 0.0 it 6.7 sokk 72 1012.5
23 26.7 0.0 it 6.7 o 70 1012.2
24 26.6 0.0 it 6.7 o 70 1012.0
H&x A 28.8 0.0 77 85 1012.6
B/ 26.4 0.0 42 62 1009.2
H¥EH 27.3 6.6 75 1010.7
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A 248
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 26.4 0.0 it 6.5 Fokx 73 1011.6
2 26.4 0.0 it 6.3 o 75 1011.6
3 26.3 0.0 it 6.2 ook 77 1011.3
4 26.4 0.0 it 6.3 ook 80 1011.3
5 26.4 0.0 b= 54 o 79 1011.6
6 265 0.0 it 6.3 o 82 1012.2
7 26.9 0.0 it 70 ook 79 1012.5
8 27.0 0.0 it 6.5 ook 79 1012.9
9 28.2 0.0 = 53 o 70 1013.4
10 28.7 0.0 = 53 o 67 1013.1
11 288 0.0 = 56 o 68 1012.6
12 293 0.0 = 59 o 65 1012.0
13 295 0.0 = 5.7 o 66 1011.3
14 295 0.0 6.1 o 67 1011.0
15 28.6 0.0 it 7.0 o 72 1011.0
16 27.9 0.0 1t 8.7 ook 77 1011.3
17 274 0.0 it 93 ook 81 1011.9
18 275 0.0 it 8.7 o 81 1012.2
19 275 0.0 it 8.1 ook 80 1012.8
20 274 0.0 it 8.3 o 81 1013.7
21 274 0.0 it 95 o 80 1014.0
22 273 0.0 it 85 o 81 1014.0
23 272 0.0 = 91 ook 79 1013.8
24 271 0.0 HitE 8.6 o 80 1013.7
H&x A 295 0.0 95 82 1014.0
B/ 26.3 0.0 53 65 1011.0
HEH 276 71 76 1012.4
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A 258
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 271 0.0 HitE 8.0 Fokx 80 1013.2
2 271 0.0 = 77 o 80 1013.1
3 271 0.0 78 o 80 1012.5
4 27.0 0.0 it 6.4 ook 82 1012.5
5 27.0 0.0 it 56 o 84 1013.1
6 27.0 0.0 = 35 o 85 1013.7
7 277 0.0 = 45 o 80 1014.1
8 283 0.0 = 50 o 75 1014.6
9 288 0.0 = 48 o 72 1015.2
10 289 0.0 = 6.0 o 72 1015.0
11 293 0.0 = 6.2 o 70 1014.4
12 29.4 0.0 = 59 o 71 1013.7
13 293 0.0 = 70 o 67 1012.8
14 295 0.0 = 55 ook 71 1012.8
15 29.4 0.0 = 6.4 o 68 1012.8
16 29.1 0.0 = 6.2 o 73 1013.4
17 28.6 0.0 HitE 6.6 o 76 1013.7
18 28.0 0.0 6.9 o 80 1014.1
19 2738 0.0 it 6.3 ook 83 1014.9
20 2738 0.0 it 71 ook 86 1015.3
21 2738 0.0 it 75 o 84 1015.6
22 277 0.0 it 76 o 85 1015.2
23 276 0.0 it 78 ook 86 1014.9
24 273 0.0 it 74 o 85 1014.6
H&x A 295 0.0 8.0 86 1015.6
B/ 27.0 0.0 35 67 1012.5
HEH 28.1 6.4 78 1014.0
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A26H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 272 0.0 = 8.3 Fokx 84 1014.1
2 272 0.0 = 6.3 o 87 1013.7
3 2538 15 = 70 o 93 1013.4
4 271 0.0 = 5.7 o 88 1012.9
5 274 0.0 = 6.1 o 84 1013.4
6 272 0.0 b= 8.2 o 86 1014.0
7 27.9 0.0 HitE 8.2 o 80 1014.3
8 28.0 0.0 = 70 o 81 1014.9
9 283 0.0 HitE 71 o 77 1015.2
10 286 0.0 = 8.3 sokk 77 1014.9
11 289 0.0 = 75 o 76 1014.1
12 29.0 0.0 = 74 o 74 1013.4
13 29.2 0.0 = 6.8 o 73 1012.6
14 29.4 0.0 = 75 o 72 1012.2
15 277 0.0 = 8.0 o 81 1012.2
16 28.7 0.0 = 8.2 o 72 1012.2
17 28.2 0.0 = 85 sokk 72 1012.5
18 2738 0.0 HitE 91 sokk 74 1012.8
19 276 0.0 74 o 79 1013.4
20 277 0.0 it 98 o 78 1014.1
21 275 0.0 it 8.9 sokk 77 1014.3
22 276 0.0 = 76 sokk 72 1014.3
23 275 0.0 = 59 o 75 1014.0
24 274 0.0 = 55 o 78 1013.4
H&x A 29.4 15 98 93 1015.2
Hex/ 258 0.0 55 72 1012.2
H¥E15 27.9 75 79 1013.6
&3t 15 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A27H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 274 0.0 = 6.5 ook 74 1012.8
2 273 0.0 56 o 76 1012.2
3 271 0.0 it 6.1 o 80 1012.0
4 27.0 0.0 it 6.4 o 79 1012.2
5 27.0 0.0 it 78 o 80 1012.2
6 27.0 0.0 it 75 ook 80 1012.5
7 272 0.0 it 8.1 ook 79 1012.5
8 27.9 0.0 dt 6.7 *kkok 74 1012.5
9 274 0.0 it 8.0 o 78 1012.9
10 28.1 0.0 it 7.9 ook 76 1012.5
11 27.9 0.0 it 74 o 75 1012.2
12 29.2 0.0 = 59 o 69 1011.6
13 30.2 0.0 47 o 67 1011.1
14 29.7 0.0 it 51 ook 70 1010.5
15 295 0.0 it 5.7 o 70 1010.4
16 29.1 0.0 = 58 o 70 1010.7
17 28.6 0.0 = 4.7 o 72 1011.1
18 27.9 0.0 44 o 76 1011.6
19 277 0.0 it 4.6 o 75 1012.2
20 276 0.0 it 50 ook 77 1012.8
21 271 0.0 it 6.0 ook 84 1012.8
22 273 0.0 it 6.0 o 82 1012.6
23 27.0 0.0 it 6.6 ook 83 1012.5
24 273 0.0 it 6.8 o 80 1012.2
H&x A 30.2 0.0 81 84 1012.9
B/ 27.0 0.0 4.4 67 1010.4
HEH 279 6.2 76 1012.0
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A28H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 272 0.0 it 6.8 Fokx 82 1012.0
2 27.0 0.0 it 6.9 o 83 1011.6
3 27.0 0.0 HitE 71 o 82 1011.0
4 271 0.0 it 8.0 ook 81 1010.8
5 26.9 0.0 it 7.0 o 83 1010.7
6 271 0.0 it 78 sokk 81 1011.3
7 272 0.0 it 8.2 ook 81 1011.9
8 26.7 0.0 it 10.0 o 82 1012.2
9 26.4 0.0 HitE 10.4 o 83 1012.8
10 274 0.0 it 95 ook 74 1012.5
11 274 0.0 it 9.4 o 75 1012.2
12 2738 0.0 it 8.9 o 75 1011.6
13 276 0.0 Jbib = 96 o 77 1011.1
14 276 0.0 it 93 o 77 1011.0
15 274 0.0 it 9.7 ook 77 1010.8
16 273 0.0 it 8.8 o 77 1011.1
17 273 0.0 it 93 o 78 1011.3
18 273 0.0 it 10.1 o 79 1011.4
19 272 0.0 = 9.2 o 82 1012.0
20 273 0.0 =it 8.9 o 82 1012.3
21 255 0.0 =it 8.0 o 87 1012.2
22 26.2 0.0 =it 6.5 o 87 1012.2
23 26.4 0.0 it 77 ook 84 1012.3
24 26.6 0.0 it 6.8 o 87 1012.0
H&x A 2738 0.0 10.4 87 1012.8
Hex/ 255 0.0 6.5 74 1010.7
HEH 27.0 85 81 1011.7
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERE265E10A 298
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 272 0.0 it 8.1 Fokx 80 1011.7
2 27.0 0.0 it 75 o 86 1011.7
3 272 0.0 it 8.0 ook 84 1011.3
4 272 0.0 it 8.6 o 83 1011.1
5 272 0.0 it 8.6 sokk 82 1011.3
6 274 0.0 = 76 o 81 1012.2
7 274 0.0 = 78 o 81 1012.5
8 272 0.0 HitE 79 o 80 1013.1
9 2738 0.0 = 84 sokk 79 10135
10 283 0.0 76 o 76 1013.2
11 283 0.0 it 8.6 o 75 1012.2
12 29.2 0.0 1t 8.9 o 72 1011.7
13 29.1 0.0 = 93 sokk 71 1011.3
14 29.1 0.0 85 o 70 1011.0
15 28.8 0.0 it 8.9 o 72 1010.7
16 285 0.0 1t 9.0 o 74 1011.1
17 28.2 0.0 it 8.9 o 76 1011.4
18 27.9 0.0 it 105 o 76 1011.6
19 2738 0.0 it 10.1 o 77 1012.2
20 277 0.0 it 98 ook 83 1012.5
21 277 0.0 it 10.0 o 80 1012.6
22 277 0.0 it 115 ook 79 1012.8
23 276 0.0 it 1.1 o 81 1012.2
24 274 0.0 it 1.7 o 81 1011.6
H&x A 29.2 0.0 1.7 86 10135
Hex/ 27.0 0.0 75 70 1010.7
EERS] 27.9 9.0 78 1011.9
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERE265E10A30H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 274 0.0 it 12.2 ook 81 1011.3
2 273 0.0 it 1.3 o 82 1011.0
3 272 0.0 it 10.7 o 84 1010.4
4 273 0.0 it 12.3 o 81 1010.1
5 273 0.0 it 11.6 o 82 1010.4
6 273 0.0 it 12.1 o 82 1010.7
7 274 0.0 it 13.1 ook 82 1011.3
8 276 0.0 it 12.7 o 82 1011.7
9 28.0 0.0 it 105 ook 82 1011.9
10 276 05 1t 99 o 88 1011.4
11 285 0.0 = 13 o 80 1010.8
12 283 0.0 106 ook 79 1010.5
13 28.7 0.0 it 10.4 ook 76 1009.5
14 28.7 0.0 it 11.0 ook 78 1009.2
15 28.2 0.0 it 11.9 ook 80 1008.9
16 28.2 0.0 = 105 sokk 84 1009.3
17 28.1 0.0 = 13 sokk 84 1009.8
18 27.9 0.0 = 122 o 83 1010.1
19 2738 0.0 HitE 1.0 o 86 1010.7
20 277 0.0 = 15 o 86 1011.4
21 28.0 0.0 = 118 o 82 1011.3
22 27.9 0.0 = 1.0 o 83 1011.1
23 277 0.0 = 100 o 83 1011.0
24 2738 0.0 = 105 o 83 1010.7
H&x A 28.7 05 13.1 88 1011.9
B/ 272 0.0 9.9 76 1008.9
EERS] 2738 1.3 82 1010.6
&3t 05 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR265E10A31H .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 278 0.0 HitE 92 Fokx 83 1010.4
2 27.7 0.0 = 9.7 ook 82 1009.5
3 276 0.0 RilE 105 sokk 83 1009.2
4 276 0.0 = 123 ook 76 1009.0
5 277 0.0 = 123 ook 75 1009.5
6 276 0.0 = 106 o 79 1010.1
7 2738 0.0 = 106 o 78 1010.5
8 28.1 0.0 95 ook 77 1010.5
9 283 0.0 it 91 ook 79 1010.8
10 28.7 0.0 it 1.1 ook 74 1010.5
11 29.0 0.0 it 10.4 ook 73 1009.8
12 29.0 0.0 it 11.0 ook 75 1009.0
13 28.0 0.0 it 1.2 ook 84 1008.1
14 26.9 25 it 11.8 ook 94 1007.5
15 272 0.0 it 10.2 o 87 1007.4
16 28.1 0.0 it 1.7 o 83 1007.4
17 28.0 0.0 it 1.2 ook 84 1008.0
18 2738 0.0 it 10.9 sokk 85 1008.3
19 279 0.0 = 13 sokk 83 1008.9
20 2738 0.0 = 1.7 ook 83 1009.5
21 27.9 0.0 = 118 sokk 83 1009.5
22 27.9 0.0 = 119 sokk 83 1009.5
23 27.9 0.0 = 1.7 sokk 84 1009.2
24 27.9 0.0 = 10.7 ook 85 1008.9
H&x A 29.0 25 12.3 94 1010.8
B/ 26.9 0.0 91 73 1007.4
EERS] 27.9 10.9 81 1009.2
&3t 25 *okok
BEEEAT—4
== |ER B °C =rew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




